
20− 15− 10− 5− 0 5 10 15 20
TP dxy (cm)

1

1.5R
at

io 0

0.001

0.002

0.003

0.004

0.005

0.006

0.007

0.008

0.009

0.01

ef
fic

ie
nc

y 
vs

 d
xy

Efficiency vs Dxy

30− 20− 10− 0 10 20 30
TP dz (cm)

1

1.5R
at

io 0

0.001

0.002

0.003

0.004

0.005

0.006

0.007

0.008

0.009

0.01

ef
fic

ie
nc

y 
vs

 d
z

Efficiency vs DzEfficiency vs Dz

DQM_CKF-test_1000evt
DQM_CKFREFit-test_1000evt
DQM_mkFitREFit-test_1000evt
DQM_NANTESTCKF_1000evt
DQM_NANTEST_1000evt


	Contents
	Page 1


